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BES | B = NOER BR HRaAvA [h=F>  -BE|HFAP| N W)  |(»FFE # (S (hPATE)|  HEREM BF # (S) (n g0 [ (W) B |y h— (S) | G| v F | GEF |2V —> | (sFE0
® 1 BT 3.6%1.2
mE 1.27%1.67
NEER 1 1.8%0.7
ME 1.8*0.95
= HAEEE 10 3.75%2.1 7 1.8%0.9%0.8 11
EEREEE 0.85*0.9 1 1.75%0.4%0.97 1
1.84%2.1 2 0.88*0.4*0.74 2
WEE 1 1.84%2.1 6 1.8*%0.9*0.75 1
1.73*0.9 1
5.165%2 1
WEERE 1.84%2.1 2 1.8%0.45%0.7 1 1
0.79%0.9 1 1.4%0.6*0.45 1 1
2 &= 1.59%2.1 2 0.9%0.8*0.7 1 0.45%0.5*1.8 1
1.8%0.65%1.5 1
1.04*0.4%1.5 1
1.04*0.7*1.5 1
BT 1.2%0.9 0.45%0.4*1.8 1
TBRE 1.84%2.1 3
Rz EREM 3.6%2 1 0.9%0.6*0.8 1 1.2*0.5*1.5 1 1 0.9%0.4*0.9 1 0.9%0.45*1.8 1 2%0.9%0.55 2
0.8%0.35*1.6 1 0.6*0.4*0.9 1
BRE 0.6*2 2
BOXE i3 ev) 1.82%2.1 2 1.7%0.7%0.7 1 0.9%0.4*0.7 1 2%2 1
1.75%0.4%0.95 1
KRE 1.82%2.1 4 0.9%0.5*1.6 1 3
0.4%0.45%1.15| 1
1.2%0.45%0.7 1 1.8%0.45%0.7 3
BE= 4 1 1.82%2.1 4 0.62*0.38*0.74 3 3 8 0.88*0.4*0.73 4
1.05%0.6%1.8 0.65%0.8*1.1 1 1.76%0.4%0.82 3
1.45%0.73*0.75 1 0.88*0.4*0.73 1
3 &= 1.8*0.9%0.75 1
TmRE 3
FEOBAE 1.82%2.1 0.6%0.4*1.1 1
1.73*09
HEfHE 1.8%0.9%0.75 2 2 1.45%0.4%0.75 1 0.9%0.5*1.6 1
0.9%0.4*1.75 1
1.05*0.736*0.75 1
0.5%0.4%1 1
BIENE 1.82%2.1 12 0.6%0.4*1.1 2 0.9%0.5*1.5 1
1.73*0.9 1 0.7%0.5*1.6 1
4 |ER=E
LERE 5 5
BERE 3.6%1.2 (1.84*2.1) 8 1.2*0.8*0.7 2 0.6*0.6%0.7 1
754K 1.8*0.8*0.75 22
EE e7/ 1A 4 0.6%0.5*1 1 2%2
HEfHE FLAY 2& 1.82%2.1 2 4 1.75%0.4*0.9 2 0.45%0.3*1.75|
£ 4- 18K
13 74 18 39 21 30 3 2
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HES [ =4 N BR Azrave |[A—Fv -BEE|(HFRE| 1 W) (» AT # (S (nPATED) | E5EM wF # (S) (nATE) |#7 (W) (rFE) Ay A— (S | (BEED| ~vF (nFTg) (Ao U—v (5 ATE)
@ 1 S’O 1.8%0.9 1.6%0.65*0.4 2 1
it& 2.7%1.2
1.8%0.9
2.7%1.2
BT 2.1%2.1 0.5%0.5%0.9 2 1
1.8%0.9
2.7%0.9
EEHE 1.525*2.1 8 14 3
2 BT 0.5%0.5*0.9 1 10 11 1
TEHE 1.525%2.1 8 1.5%0.60.5 1 10 11
3 BT 1
EEHE 1.525%2.1 8

24 0 4 0 35 25 0 2 0 3
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HES [ =4 N BR fAzavo | h—Fv -BE|(HFm| il (W) (» AT M (S) (nPATED) | E5EM wF # (S) (nATE) |#7 (W) (nEE) Ry h— (S) | (FFAED| ~vF (nFTg) (Ao U—v (5 ATE)
1 BT 1.75%0.4%0.9 1 2
B2 ALZE 1.805*2.1 5 [18*0.75%0.82] 4
i R 0.55%0.5%0.9 1 1.76%0.4%0.9 4

1.4%0.45*1.1 1
&I= 1.8%0.90.75 | 5 0.7%0.75*1.1 1
0.9*0.4%0.9 1
1.76%0.4%0.9 2
0.55*0.5*0.9 1
R 1.05%0.72%0.75 1 0.88%0.4*1.8 1
TE%E 1.55%2.1 5 |1.8%0.75%0.82 1 1.05%0.73*0.74 1 1.2%0.7%1 1
1.8*0.9%0.8 1 0.75*0.6%0.72 22 6
B EY 1.8%0.7%0.82 | 1 1
2 FRE A ] 1.55%2.1 5 1.8%0.4*033 | 5 1.8%0.4%0.33 18
1001
B E 2
#l58i5 1.805*2.1 24 1
39 17 43 13 0
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BwE&ES B35 =4 NS HRavA |A-—7v BE|GF| N W |((»FE) # (S) (P80 | EREM ¥ # (S) (» AT (18 (W) pFE) Ay h— (S) | BEED| v F | BFED |2V —> | (»FED)
@ 1 B e7/ 0.8%0.7*1.1 1 1.2%0.3*2.1 2 0.55*0.5*0.8
B 0.9*0.5*1.8 1
2.1*0.9%1.5 1
=B BRI TS 12*1.2 4.6%2.5 12 8
Ja—aY HELHKR
Bk Ha 26
K= 4
R—L 100fEF2EE
2 i8S 2o
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HES B =4 NDE SR BIR Hrave |h—Fv -BE| G| N W) () M (S) (nPATED) | E5EM BT # (S) (nATE) |#7 (W) (nEE) Ry h— (S) | (FFED| v F | BFED [ROU—> (» Frk)
@ 1 BEEES | v b 2K
BERE 2.5%4

2 BE MlEam
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HES B = NDE SR BIR Hzrara | h—Fr - BEGFRR| W |(HFE) # (S) (HFED| EEM ¥ # (S) (HFRER) [ (W) A [EyHh— (S | GFAE| ~v bk | GFKR (RoU—> | (5FAED
® 1 soviraEl v v b 2%
BE 2.5%4

2 B MlE

*/NPE R I NRICANIRE £ 2































“SEHNE






















